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c’tKij = éhAij + gc‘hK%j + gKaL%-j (216)
1 2
= 8LAij + gaj_K"yij — gaKKi' (217)
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1 . 2
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1 1 5 1
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1
—8ma <SZJ — 3’7”‘5) (221)
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(222)
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(223)
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gooboobooboo
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ooboooooooooon
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gooooood - - o
AikAkj = ’yklAl'kAlj = ef4¢f_ykle4¢Aike4¢Alj = 64¢AikAkj

gogoo
gooboooboobo

_ 2 _ _ _ -
8J_Aij = —ngﬁkAij + OéKAij — 20{AikAkj

+e_4¢’(—DiDja —+ 4D(7C¥D])¢ + CV(RZ']‘ — 2D1D]¢ + 4D1¢D]¢ — 87TSZ']'))TF

oooo

(235)
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(237)

Ricci DODODOO0OO0O0000000000O0O0O00O00OAO constraints 00 00O 0O O O O Hamiltonian
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2K2 A AY —167E (R D.DF Do DFg) =
3 — Ay — 16 +e ( — 8Dy D¢ — 8DyxpD"¢) =0

0 0 0 0 momentum constraint O

. . ~ . 1 . ~ . 1 -~
DjKJi = DjK]i =1Ly <A]z + 3K5]1> = DjAJZ‘ + gD,K

ooo
bjAji = DjAji + ijlAli — CljiAjl

= D; A%+ 6AY Dy — 249,6' ;Do — 249, D¢ + 2A,; D7 ¢

— D, UV, + 64/,D,¢
ogoooad )

gD’LK — ’%ijf_ljk — 6’71kA]ij¢ + 87‘(’5Z =0

oOooa
1.4 BSSNOO

(238)
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(241)
(242)
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(244)

BSSNOOOODOOOOOOOORicciD00000000000Q,;=°R;0 R,; 000000000
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AT =T, -1, 0000000
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Rij = 0p(T%ij + AT*;) — 0;(T% 4 + AT*y)

(@ + AT ) (D% + ATF5) — (D% + ATR) (D' + ATY) (248)
= akfkij - aifkkj + flzkfkij - fkliflkj

+8kAPkij + fllkAFkij - fkliArlkj

—O; ATk + TR ATy, — T AT,

+AT! R ATF, — ATF AT (249)
=Ry

+OLATF; + T ATF — TR, AT — T, ATR

— 0 AT g — T ATR; + TR ATy + T ATy

+AT! ) ATF;; — AT AT (250)

gooboooooboboboobo oboOobUobUObOobDOobOUOobOUODUoODbOUOUbUObDOobOoOoobooD ZA)Z-IZI
gboboboooooogog

Rij = DIATY; — D;ATF,; — ATF AT + AT ATF; (251)
00D0D0AD;, =4 AT 0000
AT 1 = Al (252)
D A
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gooooooooooooo
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Dy AT, = ka(’?kl(Dﬁjl + Diya — Di¥iz)) (254)
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ooooogd2
N 1 o . .
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gooooooa
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Di(¥'3u) = (DAY, + 7' Dy, 00 0 O

AFk = _ijAFkij (264)
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gobooobobooboooboo
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5%DiArl + §DiDj In /7 + 5AFZAFM + §AI‘1AFM (272)
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ooooogo
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0000 A% O transverse 00 0 O traceless 0 0
Yij Al =0 (292)
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=D;DIX"+ D'D; X7 + R'; X7 — ngDka (296)
_ 1-.- . _ . .
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